1. A 1000μF capacitor and a 10μF capacitor are charged so that the p.d. across each of them is the same. The charge stored in the 1000μF capacitor is Q1 and the charge stored in the 10μF capacitor is Q2.
What is the ratio Q1/Q2
A 100

B 10

C  1

D 1/100

2. A 1000μF capacitor initially uncharged is charged by a steady current of 50μA. How long will it take the p.d. across the capacitor to reach 2.5V?

A 20s

B 50s

C 100s

D 400s

3 A 400μF capacitor is charged so that the voltage across its plates rises at a constant rate from 0V to 4V. What is the current being used to charge the capacitor?

A 5μA

B 20μA

C 40μA

D 80μA

